75K (YC160M-B)

6C=>13A-12A 6C=LPG
No. EB Sn % TR HBaES B8 EETH IEH | No. ER R Fh HaEs 8| EEIH
1 |9 J3x%4 M12-14120-01 | 1 1 |73+ M12-14120-11 1
2 [Pz ybMU5 (12AH) | M12-14359-30 | 1 0.4 1 3 oy 93210-29375 1 0.4
3 oy sy 93210-29375 1 5 | ARk MO1-14483-01 1
5 |HRTvbk M01-14483-01 | 1 5 1 |7—=UF347 M12-18651-01 1 0.9
1 |T—=Ur347 M12-18651-01 | 1 0.9 2 |R)LE M75-T2121-00 2 '
2 X)Lk M75-T2121-00 | 2 ' 1 | EB8AH/\FAssy MO07-13800-20 1
— IZRNIL1 — 1 0. 4 2 loyrsg 93210-16772 1 1.0
— |5RJL2 — 1 ' 3 loyrs 93210-12759 1
K12AF Y 19 U5 R SIEEL 0.8 — |51 — 1 0.1
At 2.2 — |oNJL2 — 1 '
=K ER SR 0.5
SIEER 0.8
BE 3.7
LPG=13A-12A 13A=LPG
No. EB Sn % TR HBaES 8| EETH IEH | No. ER R Fh HaEs 8| EEIH
1 |9 J3x%4 M12-14120-01 | 1 1 |73+ M12-14120-11 1
2 [PzybMU5 (12AH) | M12-14359-30 | 1 0.4 1 3 oy 93210-29375 1 0.4
3 ooy 93210-29375 1 4 |HRTYE MO1-14483-01 1
4 |HRybk MO01-14483-01 | 1 1 |EB8AH/\FAssy MO07-13800-20 1
1 |08/ FAssy M07-13800-02 | 1 4 1 2 ooy 93210-16772 1 1.0
2 o)y 93210-16772 1 1.0 3 loursg 93210-12759 1
3 oy sy 93210-12759 1 — |5RIL1 — 1 0.1
— IZRNIL1 — 1 0.1 — |oNJL2 — 1 '
— |5RJL2 — 1 ' i A B A R B 0.5
X12AIFY Ty UBH A R AR R R 0.5 g 0.8
SaEn 0.8 &5t] 28
&5t 2.8
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75K (YC160M-B)

13A=6C LPG=6C
128 ] No. £ 2 HaES # | EETH 18] No. 2B HRAES | EETH
1 |9 J3x%4 M12-14120-20 | 1 1 |73+ M12-14120-20 1
1 3 o)y 93210-29375 1 0.4 1 3 loyrs 93210-29375 1 0.4
5 | AR vk M01-14483-01 | 1 5 |[HR7vbk M01-14483-01 1
, ! T—J)E3547 M12-18651-CO | 1 0.9 5 1 |7—=UF347 M12-18651-C0 1 0.9
S M75-T2121-10 | 2 ' 2 |RXLE M75-T2121-10 2 '
1 /LT AR M96-T4111-11 | 1 1 [/NLTHR M96-T4111-11 1
2 o) sy 93210-29147 2 2 loyrsg 93210-29147 2
3 |[RILEATHTY 90110-06239 4 3 | RILEAFHTY 90110-06239 4
3| 4 |I\(THXA M12-T4146-C1 | 1 3 4 |/)N\ATHZAA M12-T4146-C1 1
5 |D4vFo €0/ F+| M07-T4127-Co | 1 15 5 D4y F€nA/8+ | M07-T4127-C0 1
6 |RY)1— 98980-04008 1 6 |RY1— 98980-04008 1 15
7 | HRT Yk 90430-04004 1 7 | B Rk 90430-04004 1
8 II\AMTHR2 M12-T4162-CO | 1 8 |II\4MTHR2 M12-T4162-C0 1
9 |34 vkA M12-T134A-CO| 1 9 |34 vhA M12-T134A-C0 2
41 2 oYy 93210-16772 1 1 |85 /\FAssy M07-13800—02 1
— |51 — 1 0.1 4 | 2 ooy 93210-16772 1
— |I5R)L2 — 1 ' 3 o)y 93210-12759 1
SaEn 0.8 — |51 — 1 0.1
At 3.7 — |oNJL2 — 1 ‘
=K ER R 0.5
SIEER 0.8
&t 42
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75K (YC160M-B)

LPGIE = (7 3) > 13A-12A 6A=13A-12A
No. EB Sn % TR HBaES B8 EETH No. ER R Fh HaEs oIV IEEIH
1 |9 J3x%4 M12-14120-01 | 1 1 |73+ M12-14120-01 1
2 |y MY5 (12AF) | M12-14359-30 | 1 0.4 2 | ybMU5 (12AF) M12-14359-30 1 0.4
3 o)y 93210-29375 1 3 loyrs 93210-29375 1
4 | HRybk M01-14483-01 | 1 5 |[HRvbk M01-14483-01 1
1 |[£8A/3FAssy M07-13800-02 | 1 1 |7—=UF347 M12-18651-01 1 0.9
2 o) sy 93210-16772 1 1.0 2 |N)Lk M75-T2121-00 2 '
3 o)y 93210-12759 1 — |5RILA1 — 1 0.1
— IZRNIL1 — 1 0.1 — |oNJL2 — 1 '
— |I5R)L2 — 1 ' ¥12A1FY U543 FEER 0.8
HK12AILY 19 U5 HR N EFERER 05 &it 2.2
SIEEL 0.8
&5t 2.8
5A-5B:5C-5AN-7C=>13A-12A
No. £ 4 HaEE # | EETH
1 |23 %4 M12-14120-01 | 1
2 |y MY5 (12AF) | M12-14359-30 | 1 0.4
3 o)y 93210-29375 1
5 |HRTvbk M01-14483-01 | 1
1 |T—=Ur347 M12-18651-01 | 1 0.9
2 X)Lk M75-T2121-00 | 2 '
— IZRNIL1 — 1 0.1
— |Z~)L2 — 1 '
K12AF Y 9 M U5E 3R SIEEL 0.8
&5t 2.2
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75K (YC160M-B)

13A=12A LPG=> & =2LPG(7 3)
No. EB Sn % TR HBaES | EEIH IEB| No. ER R Fh HaEs oIV IEEIH
2 [z ybAA5 M12-14359-30 | 1 0.3 1 | 2 [PzuRrA(5 M12-14359-41 1 0.3
— 5’\:)1/1 — 1 0.1 — 5’\:)1/1 — 1 o1
— |5~ L2 — 1 — |5~)L2 — 1
B R 0.8 BT 0.8
&5t 1.2 &t 1.2
12A=13A E=LPG (7 40) =>LPG
No. EB &n 4 TR HBaES | EEIH IEB| No. EIETEZE a0 HaEs oV IEEIH
2 [z ybAA5 M12-14359-00 | 1 0.3 1 | 2 [PzuRA(5 M12-14359-11 1 0.3
— 5’\:)1/1 — 1 0.1 — 5’\:)1/1 — 1 o1
— |5~ L2 — 1 — |5~)L2 — 1
B R 0.8 BT 0.8
&5t 1.2 &t 1.2
6C=6A 6A=6C
No. EB &n 4 TR HBaES | EEIH IEB| No. EIETEZE a0 HaEs oV IEEIH
2 [z ybAA5 M12-14359-51 | 1 0.3 1 | 2 [PzurA(5 M12-14359-21 1 0.3
— 5’\:)1/1 — 1 0.1 — 5’\:)1/1 — 1 o1
— |5~ L2 — 1 — |5~)L2 — 1
B R 0.8 BT 0.8
&5t 1.2 &t 1.2
6C=>5A-5B-5C-/C 5A-5B-5C-7C=>6C
No. EB Sn % TR HBaES | EEIH IEB| No. ER ¥ HaEs BV IEEIH
4 |VzvhTT7— M07-14172-00 0.2 — IZANILA1 — 1 0.1
— IZNIL1 — 1 0.1 — |oNJL2 — 1 '
— |o~)L2 — 1 ' TrybIT7—RYSL 0.2
HiEes 0.8 s 0.8
&t 1.1 =5t 1.1
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